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11. This year, the U.S. government plans to impose heavy tariffs on communication devices imported
from China. Many Chinese firms use chips made in Taiwan to produce communication devices. What
will happen to the equilibrium price and quantity in the market for chips made in Taiwan after the
U.S. government imposes this tariff?

a. The equilibrium quantity will increase but the equilibrium price will decrease.
b. The equilibrium quantity will decrease but the equilibrium price will increase.
¢. The equilibrium quantity and price will both decrease.

d. The equilibrium quantity and price will both increase.

12. Imported soybeans from the U.S. account for around 30% of soybean domestic consumption in
China, and most of soybean consumption in China is for pig feed. After the Chinese government
imposes a heavy tariff on soybeans from the U.S., who will be benefited by this policy?

a. Pig consumers in China

b. Pig farmers in China

c. Soybean farmers in China
d. Soybean importers in China

13. If the quantity supplied for LED lamps is greater than the quantity demanded by 2%, the price will
decrease by around 5%. What does this statement mean?

LED lamps are luxury goods.

LED lamps are normal goods.

The absolute value of own-price elasticity of demand for LED lamps is greater than one.

If the price of LED lamps increases, the total revenue (P*Q) for LED lamp producers will

increase.
14. Assume that the utility function for Butt-head (KFERE) is U, Y) = min{3X, 5Y}. He has income

$510. The price for X is $5/unit, and the price for Y is $3/unit. Which statement below is

CORRECT?

He should buy only 102 units of X.

He should buy only 170 units of Y.

He should buy 75 units of X and 45 units of Y.
He should buy 51 units of X and 85 units of Y.
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15. The demand for tea increases and tea producers begin eaming economic profits. Assume the tea
industry is perfectly competitive. Compared to this new situation, in the long run how are the
price of tea and economic profits for tea producers most likely to change?

The price of tea and economic profits for tea producers will both decrease.

The price of tea and economic profits for tea producers will both increase.

The price of tea will decrease, but economic profits for tea producers will increase.

The price of tea will increase, but economic profits for tea producers will decrease.

Ao o p

16. U is a monopoly producer for a special tool; yet, they do not have a sales department. U proposes a
take-it-or-leave-it offer for D, who is the only retailer in a small town. The demand in this town for
the special tool is Q(P) = 300-3P. The average variable cost for U to produce this tool is 30. While
selling tools, D will not incur additional cost. No fixed cost for U and D. What is the retail price in
which D sells this special tool?

a. 30

b. 65

c. 70

d. 825

17. Refer to Problem 16. Which statement below is CORRECT?

If U acquires D, U will keep using the old retail price that D set before.

If U acquires D, the consumer surplus for the tool buyers in this town will decrease.

If U acquires D, the retail price for this tool in this town will decrease.

If U sets their own store in this town (while U keeps selling D this tool), the retail price for this
tool in this town will not change.

/oo

18. Firm H used 400 units of labor and 100 units of machines in the last month, and their output is 100
units. This month, Firm H is using 300 units of labor and 150 units of machines, and they find that
their output is still 100 units. If the price of using one unit of machine is $400, and the price of using
one unit of labor is $100, which statement below is CORRECT?

a. The slope of isoquant for Firm H is 5/14

b. The marginal rate of technical substitution (marginal product of labor/marginal product of
capital) for Firm H is 2.

c. Firm H should use more labor.

d. Firm H should use more capital.

19. Two shops, L and R, sell bubble tea in a small village. Shop L usually puts more ice cubes in their
bubble tea than Shop R. However, most villagers do not care how many ice cubes added in their
bubbie tea. All other features of the bubble tea they sell are similar. Two shops compeie on price.
Assume that the marginal cost for L to produce each additional cup of bubble tea, MCp, is NT32, and
the marginal cost for R to produce each additional cup of bubble tea, MCg, is NT30. What are the
possible prices of a cup of bubble tea for L and R in the Nash equilibrium?

(PL*, Pr*) = (30, 30)

(PL*, Pr*) = (34, 34)

(Po*, Pr*) = (33, 32)

(PL*, Pr*) = (38, 36)
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20. Two shops, D and S, also sell bubble tea in another small village. Shop S usually puts more sugar in
their bubble tea than Shop D. All other features of the bubble tea they sell are similar. Residents in
this village have similar preferences on sweetness: they all prefer bubble tea with more sugar to
general one. Two shops compete on price. Assume that the marginal cost for D, MCp, and the
marginal cost for S, MCs, are both NT30 for each additional cup of bubble tea. What are the
possible prices of a cup of bubble tea for D and S in the Nash equilibrium?

(Pp*, Ps*)=(31,31)

b. (Pp* Ps*)=(31,34)

c. (Pp* Ps*)=(34,31)

d. (Pp*, Ps*)=(34, 34)
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1. A researcher has collected the following sample data.
5 12 6 8 5
6 7 5 12 4
The 75th percentile is

A7
B.7.5
C.8
D.9

2. The table below shows the population growth rate of a city for the years 2008 through 2012.
Population
Growth Factor
2008 {0.8923
2009 [1.0587
2010 [1.1934
2011 11.2345
2012 {1.0995
What has been the average growth rate of the city form year 2008 to 2012?
A. 8.88%
B. 13.54.%
C. 12,34%
D. 1.088%

Year

3. The random variable X is the number of occurrences of an event over an interval of ten minutes. It
can be assumed that the probability of an occurrence is the same in any two time periods of an equal
length. It is known that the mean number of occurrences in ten minutes is 4. The probability that there
are 3 occurrences in five minutes is

A. 0.1804
B.0.1721
C.0.1126
D. 0.9107

4. (Continued with problem 3) What is the standard deviation of X ?
A.2.
B.5
C.3
D. 16

5. The following table shows part of the probability distribution for the number of boats sold daily at Boats
HRAFHE A M
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Unlimited. It is known that the average number of boats sold daily is 1.57.
)
0.20
0.30
0.32
277
0.05
0.02
Which of the following is the correct variance?
A. variance = 1.5092
B. variance = 1.8903
C. variance = 1.4051
D. variance = 1.6881

U\-l:-b)[\)o—-oN

6. The average life expectancy of dishwashers produced by a company is 6 years with a standard deviation of 8
months. Assume that the lives of dishwashers are normally distributed. If 155 of this year's dishwasher
production fail operating in less than 4 years and 4 months, then how many dishwashers were produced this
year? (Zz,49=0.0064, Zz,39:0.0084, Zz,59=0.0048) ’

A. 24200 -
B. 34000
C. 29000
D. 40400

7. From a population that is not normally distributed and whose standard deviation is not known, a
sample of 6 items is selected to develop an interval estimate for the mean of the population (x). Then,
which of the following is correct? '

A. The normal distribution can be used.

B. The t distribution with 5 degrees of freedom must be used.
C. The t distribution with 6 degrees of freedom must be used.
D. The sample size must be increased.

8. A machine that produces a major part for an airplane engine is monitored closely. In the past, 10% of
the parts produced would be defective. With a .95 probability, the sample size that needs to be taken if
the desired margin of error is .04 or less is (Zo.025=1.96)

A.110
B. 111
C.216
D.217

9. Two thousand numbers are selected randomly; 960 are even numbers. At the .10 level of significance
using the p-value approach, test the hypotheses Ho: p = 0.5. vs. Hi: p # 0.5. What is the range of p-
value? (Zo.0s=1.645, Z.025=1.96)

A. p-value > 0.10

B. 0.025 < p-value <0.05

C. .0.01 <p-value <0.025

D. 0.05 <p-value <0.1

10. Ho: p= 120 vs. Hi: p# 120 are used to test whether a bath soap production process is meeting the
standard output of 120 bars per batch. Use a 0.05 level of significance for the test and a planning
value of 5 for the standard deviation. If the mean output drops to 117 bars per batch, the firm wants to
have a 98% chance of concluding that the standard production output is not being met. How large a

:&@ﬁ% R <2 £-Y 3 B
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sample should be selected? (Zg,02=2.05)
A. 44
B. 45
C. 46
D. 47

11. In national public opinion polls for interval estimation conducted by large professional organizations,
what is the margin of error most commonly adopted?

A. 0.01 ~0.02
B. 0.02 ~0.03
C.0.03 ~0.04
D. 0.04 ~ 0.05
12. The table below gives beverage preferences for random samples of teens and adults.
Teens Adults Total
Coffee 10 40 50
Soft Drinks 30 20 50
40 60 100

We are asked to test for independence between age (i.e., adult and teen) and drink preferences. What
is the value for the test statistic?

A.5.991

B. 7.815

C. 14.067

D. 16.67

13. Consider the following information.
SSTR = 6750 Ho: p1 =po =3 = pa
SSE = 8000 H,: At least one mean is different
n=5 is selected from each population and the null hypothesis is to be tested at the 5% level of
significance (table value F3,16;0.0s = 3.24). The null hypothesis
A. should be rejected
B. should not be rejected
C. was designed incorrectly
D. cannot be tested

14, Regression analysis was applied between sales data (y in $1000s) and advertising data (x in $100s) and the

following information was obtained.

Y=12+18x

n=17 SSR=225 SSE=75 Sb =.2683

The F test statistic computed from the above data is

A. 43
B. 45
C. 48

D. 50

15.Given the data for two variables, X and Y.

xi 16|11 ]15]18 |20

Yi|6]8 |12]20 |30
Which of the following is correct?

RAFRAL4Y
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A. b1=1.5873
B. E(y) =-6.045 + 1.32x
C. bo=-6.022

D. none is correct

16. The following information regarding a dependent variable (y) and an independent variable (x) is
provided as follow.
Y X

4 2
3 1
4 4
6 3
8 5
It is known that SSE=6 SST = 16. Then, the least squares estimate of the y-intercept is
Al

18. In a regression analysis, the regression equation is given by y = 12 - 6x. If SSE =510 and SST =
1000, then the coefficient of correlation is

A.-0.7

B.+0.7

C. 0.49

D. -0.49

19. Regression analysis was applied between sales data (y in $1000s) and advertising data (x in $100s)
and the following information was obtained.

Y=12+1.8x

n=17

SSR =225

SSE =75

sbh1 = .2683

Then, the ¢ statistic for testing the significance of the slope is
A.1.80
B. 1.96
C.6.71
D. 0.56
20. A measure of identifying the effect of an unusual x value on the regression results is called

A. Cook’s D
B. leverage
C. odd ratio

D. unusual regression

=
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21. In order to test for the significance of a regression model involving 3 independent variables and 47
observations, the numerator and denominator degrees of freedom (respectively) for the critical value
of I are

A.47and 3
B. 3 and 47
C.2and 43
D. 3 and 43

22. The following estimated regression equation was developed relating yearly income (y in $1000s) of

30 individuals with their age (x1) and their gender (x2) (0 if male and 1 if female).
Y =30+ .7x1 +3x2 Also provided are SST = 1200 and SSE = 384. At the 5% level the F table value
is F2,27.0.0s=3.35; then, the model

A. is significant

B. is not significant

C. would be significant if the sample size was larger than 30

D. has significant individual parameters.

23. Use the computer output shown below to choose the correct answer, at a .05 level of significance.
ANOVA

df SS MS F Significance F
Regression2 118.8474 59.4237 40.9216 0.0000
Residual 9 13.0692 1.4521
Total 11 131.9167

Standard

Coefficients Error tStat  P-value
Intercept 118.5059 33.5753 3.5296 0.0064
(x1) -0.0163 0.0315 -0.5171 0.6176
(x2) -1.5726 0.3590 -4.3807 0.0018

A. the model is not significant

B. x) is significant and no evidence that x3 is significant
C. no evidence that x; is significant while x is significant
D.n=11

24. (Continued with problem 23) What is the value of the coefficient of determination?

A.0.8
B. 0.7
C.0.1
D. 0.9

25. In a regression analysis involving 20 observations and five independent variables, the following
information in the ANOVA table was obtained. Which of the following answers is correct?

ANOVA

df SS MS F
Regression ? ? ? ?
Error (Residual) ? ? 30
Total 990

HAEFEEA4E
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A.F=36
B.F=3.8
C. SSR =420
D.MSE=114
26. Provided with the standardized residuals plot as follow, please choose the correct answer.
W Residuals vs Fits for Scoring Ave. :—\:—TF
Versus Fits . -
(response is Scoring Ave.)
. o R -
3. . .
E 2 [ ] - .
gp . ..:'.,".‘... ¢ ot Ve
-§'1: L] p‘ O..‘.‘..‘ '.'. ¢ .
a 20 ) o' : e '
-3 ' .
69 70 n 72 73 74 75 76 77
Fitted Value

A. the standardized residual plot supports all the four assumptions about g
B. the plot does not seem to indicate existence of outliers

C. the variance of the residuals appear to increase for larger fitted values
D. the plot seems to violate the assumption that E(g) = 0

27. In Durbin-Watson test the null hypothesis Ho is
A.Hp:pzo

B.Ho:p=o

C. Ho: p=1

D.Hp:p=0

28. In the test of autocorrelation which of the following is correct?

A. the error terms are modelled as € ;=0 €1

B. autocorrelation means successive error terms are automatically correlated
C. the error terms are modelledas €t=p €¢1 + 2z
-D. none of the above is correct

29. A variable such as z, whose value is z = x1x2, is added to a general linear model in order to account
for potential effects of two variables x1 and x2 acting together. This type of effect is

A. called multiplicative effect

B. called interaction effect

C. called dual choice effect

D. called binary choice effects

30. When dealing with the problem of non-constant variance, the reciprocal transformation means using
A. 1/x as the independent variable instead of x
B. 1/x* as the independent variable instead of x
C. 1/y? as the dependent variable instead of y
D.1/y as the dependent variable instead of y
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31. A data set consisting of 7 observations of a dependent variable y and two independent variables x;

(8]
[\

33.

34.

35.

36.

and x> was used in a regression analysis. Using x) as the only independent variable, the following
function is provided.

=.408 + 1.338x;
The SSE for the above model is 39.535.
Using both x; and x; as independent variables yields the following function.

¥ = 805+ .498x - .477x2
The SSE for this function is 1.015.
Then, the F test statistic cquals
A.151.8
B. 39.535
C.1.015
D. 38.52

B. 58.9
C.61.0
D. 65.5

Which of the following smoothing constants would make an exponential smoothing forecast
equivalent to a naive forecast?

A. 0.0

B. 0.1

C.0.5

D. 1.0

In stepwise regression procedure, how would you decide which variable to enter or leave the model?
A. a variable which is outside the model but with the largest p-value is to enter the model
B. a variable which is inside the model but with the largest p-value is to leave the model
C. a variable which is inside the model but with the smallest p-value is to leave the model
D. none of the above statements is correct

If the estimate of the trend component is 158.2, the estimate of the seasonal component is 94%, the
estimate of the cyclical component is 105%, and the estimate of the irregular component is 98%, then
the multiplicative model will produce a forecast of

A.1.53

B. 1.53%

C. 153.02

D. 153,020,532

Below you are given the first five values of a quarterly time series. The multiplicative model is
appropriate and a four-quarter moving average will be used.

Year Quarter Time Series Value Y;
1 1 36
1 2 24
1 3 16
1 4 20
2 1 44

FRAHE
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An estimate of the seasonal-irregular component for Quarter 3 of Year 1 is
A. 0.64
B. 1.5625
C.5.333
D.0.3

37. The quality control manager requested a producer’s risk of 0.1 when po was 0.03 and a consumer’s
risk of 0.2 when p1 was 0.15. Consider the acceptance sampling plan based on a sample size of 20
and an acceptance number of 1. Let X be the number of defective items selected in the sample, then
which of the following answers is correct?

A. the producer’s risk = P(X=2 | n=20, p=0.03)
B. the producer’s risk = P(X <1 | =20, p=0.15)
C. the producer’s risk = P(X=2 | n=20, p=0.15)
D. the producer’s risk = P(X<1 | n=20, p=0.03)

38. (Continued with problem 37) Which of the following is correct?
A. the consumer’s risk = P(X=2 | n=20, p=0.15)
B. the consumer’s risk = P(X=2 | n=20, p=0.03)
C. the consumer’s risk = P(X<1 | n=20, p=0.15)
D. the consumer’s risk = P(X<1 | n=20, p=0.03)

39. A nonparametric version of the parametric analysis of variance test is the
A. Kruskal-Wallis test
B. Mann-Whitney-Wilcoxon test
C. sign test
D. Wilcoxon signed-rank test

40. Fifteen people were given two types of cereal, Brand X and Brand Y. Two people preferred Brand X
and thirteen people preferred Brand Y. We want to determine whether or not customers prefer one
brand over the other. The p-value for this test is (Hint: 0.5°=0.000030517)

A. 0.0005
B. 0.001

C. 0.0037
D. 0.0074

= 3t HA (83t 105)

1. Consider the following time series data. Please answer the following questions.

Week | 1 2 3 4 5 6 7
Value [24 [13 |20 |12 |19 |23 |15

(a) Develop the 3-week moving average forecasts for this time series. Compute MSE and a forecast for

week 8.
(b) Use 0=0.2 to compute the exponential smoothing forecasts for the time series. Compute MSE and a

forecast for week 8.
(¢ ) Compare the 3-week moving average approach with the exponential smoothing approach using

0=0.2. Which appears to provide more accurate forecasts based on MSE?
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1. Find dy/dx for the following (15%)

x
a. y = and W= =
b. x3 =2 by implicit differentiation
C. y:ln (X + e‘3"’)

2. Sketch the graph of f(x)=8x’ —5x" ~20x?, indicating local extrema, inflection points, concave

structure, and asymptotes, if applicable. (15%)
3. Evaluate the integrals (30%)
/3 . 0 dx
a. [, sin3tdt b. [ 7=
. fxzf::—e d [xJx+1 dx
dx e3%
e. f—————\/;(2+‘/§)z f. I1+esx

4. Find the limits of the following (15%)
3™+5
e'ﬂ.

a.{a,},, where a, =

b. an" , indicating the interval of convergence.
n=l

ln(3+x)

c. limg,g
5. Approximate In(1.11) by Taylor’s expansion accurate to 3 decimal places. (10%)

6. H—WMPT—ENERGEEesrt BB Bk ARARY S > H 3 % E & (probability density
function) & f(x)=12x(1-x), 0<x<l, RAEBERSH - FHURFTLAEBEHME -
(15%)
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When a sales organization has a standard practice that salespeople who call on customers on
construction sites should wear a "hard hat" at all times during this sales call, this is an example of:
(A) Equity.

(B) Arule.

(C) Job specialization.

(D) Theory X.

(E) Management science theory.

is the process of evaluating each market segment's attractiveness and selecting one or
more segments to enter.
(A) Market segmentation
(B) Mass marketing
{(C) Differentiation
(D) Market targeting
(E) Market entering

If the Director of Athletics at a college reports jointly to both the Dean of Faculty and the Dean of
Student Affairs, this is a violation of which one of Fayol's principles?

(A) Equity

(B) Unity of command

(C) Unity of direction

(D) Initiative

(E) Order

Managers who believe that they are largely responsible for their own fate are said to be high in:
(A) External locus of control.

(B) Conscientiousness.

(C) Negative affectivity.

(D) Internal locus of control.

(E) Openness to experience.

A manager who is self-reliant and self-sufficient is expressing which type of instrumental value?
(A) Responsibility

(B) Independence

(C) Ambition

(D) Capability

(E) Helpfulness

Giorgio, is very angry with his co-worker Petra, who has made errors in her work that cause Giorgio
to have to work late. Giorgio is experiencing a(n):

(A) Personality

(B) Emotional intelligence incident

(C) Emotion

(D) Mood

(E) Scruple
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7.

10.

11.

12.

The supervisor of a newly hired school bus driver rides with the new driver for the first week on the
new job to be sure that the driver follows the correct route and the proper safety procedures. In
which aspect of the HRM process is this supervisor involved?

(A) Simulation

(B) Needs assessment

(C) Role-playing

(D) On-the-job training

(E) Development

An ethical dilemma is a situation in which a person has to decide is she should act in a way that
, even though doing so may

(A) Fosters her own self-interest; favor another's self—mterest

(B) Is the “right” thing to do; go against her own self-interest

(C) Is the “wrong” thing to do; go against her own self-interest

(D) May help another person; favor her own self-interest

(E) Go against her own self-interests; is the “wrong” thing to do

The rule is that an ethical decision is one that distributes rewards and harm in a fair
way.

(A) Justice

(B) Moral Rights

(C) Utilitarian

(D) Practical

(E) Existential

The Target retail store in Scottsdale, Arizona stocks baby trailers for bicycles because its
customers want to buy this product in this store, even though Target does not typically stock this
product in its other stores. This is an example of:

(A) Procedural justice.

(B) Distributive justice.

(C) Managing diversity.

(D) Bias. ,

(E) The ombudsman effect.

A group of managers interviewing job applicants ask each job applicant: "What are your unique
qualifications for this job?” Which type of interviewing is being used?

(A) Unstructured

(B) Situational

(C) Role-playing

(D) Structured

(E) Ad hoc

A white, female manager assumes a number of things about a subordinate that are inaccurate just
because that subordinate is a black male and "all black males are like that." This manager is
exhibiting:

(A) The similar-to-me effect.

(B) Quid pro quo harassment.

(C) The glass ceiling.

(D) Stereotyping.

(E) A hostile work environment.
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13.

14.

15.

16.

17.

18.

When a manager knowingly and willingly denies a subordinate an opportunity for promotion within
the organization because that subordinate is "different from" the manager, what has occurred?

(A) Sexual harassment

(B) Proactive approach

(C) Whistle-blowing

(D) Overt discrimination

(E) The glass ceiling

Which of the following is true of strategic planning in a firm?

(A) Strategic planning focuses on the firm's internal environment rather than the external
environment.

(B) Strategic planning involves the formulation of supporting objectives for business units based on
the company's mission statement.

(C) Strategic planning occurs at the business-unit, product, and market levels rather than a
company-wide level.

(D) Strategic planning deals with adapting the firm to take advantage of opportunities in its
changing environment.

(E) Strategic planning deals with maintaining the company's current business ventures.

The process by which experienced members of the organization provide guidance and advice to
newer members 1s called:

(A) Quid pro quo

(B) Networking

(C) Mentoring

(D) Performance appraisal

(E) Career planning

A male manager makes a remark to a female manager that she considers to be a sexually
demeaning remark about her appearance. This male manager has exhibited:

(A) Quid pro quo sexual harassment.

(B) The glass ceiling.

(C) The similar-to-me effect.

(D) The salience effect.

(E) A hostile work environment.

A major competitor of XYZ, Inc. suddenly creates a new type product that makes XYZ's products
obsolete. This is an example of which type of force in the environment?

(A) General environment

(B) Task environment

(C) Economic environment

(D) Legal environment

(E) Political environment

The collection of values that a society considers important and the norms of behavior that are
approved by the society is(are) known as:

(A) Sociocultural forces.

(B) Economies of scale.

(C) The national culture.

(D) The task environment.

(E) The general environment.
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19. The process of dividing a market into distinct groups of buyers with different needs, characteristics,

20.

21.

22.

23.

24.

or behaviors is called
(A) Diversification

(B) Market penetration
(C) Market targeting

(D) Positioning

(E) Market segmentation

In the administrative model of decision making, when the number of possible alternatives to a
decision is so large that the manager cannot possibly evaluate all of them before making a decision,
this is called:

(A) Satisficing.

(B) Bounded rationality.

(C) Brainstorming.

(D) Devil's advocacy.

(E) The optimum decision.

Which type of organizational strategy states the industries and markets in which the organization
intends to compete?

(A) Divisional-level strategy

(B) Departmental-level strategy

(C) Functional-level strategy

(D) Corporate-level strategy

(E) Business-level strategy

The company that customizes every product to the unique demands of individual customers is likely
to see its cost structure:

(A) Become obsolete

(B) Rise as unit revenues rise

(C) Become lowers as demand increases rapidly

(D) Become so high that unit costs exceed unit revenues

(E) All of the above

A manager increases the number of tasks that a subordinate has to perform in order to attempt to
make the job more interesting for the subordinate. This is called:

(A) Job simplification.

(B) Job enlargement.

(C) Job enrichment.

(D) A matrix structure.

(E) A functional job structure.

The required for the job of chemical researcher for Monsanto Company is
than that required by the job of "food server" in a McDonald's restaurant.

(A) Skill variety; higher

(B) Autonomy; lower

(C) Task significance; lower

(D) Task identity; lower

(E) None of the above
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25. An organization gives very specific specifications to its suppliers of raw materials the organization

26.

27.

28.

29.

30.

needs to produce goods, in an attempt to improve the quality of those raw materials. This is an
example of:

(A) Concurrent control.

(B) Feedforward control.

(C) Feedback control.

(D) Bureaucratic control.

(E) MBO control.

The direct costs associated with producing a specific product are subtracted from the net revenues
received from the sale of this product. The resulting figure is called:

(A) Net income.

(B) Operating profit.

(C) Cash flow.

(D) Gross profit margin,

(E) The liquidity ratio.

When newly-hired programmers at Microsoft Corporation join small work teams so that
experienced workers can serve as mentors to them while they are adjusting to their new job, this is
an example of which component of the HRM process?

(A) Recruitment

(B) Selection

(C) Performance appraisal

(D) Performance feedback

(E) Training and development

Negative reinforcement involves negative consequences when functional behaviors
are performed and punishment involves negative consequences when dysfunctional
behaviors are performed.

(A) Removing; removing

(B) Administering; administering

(C) Removing; administering

(D) Administering; removing

(E) None of the above

A production supervisor delegates to a production worker the responsibility to schedule his own
work activities depending on the job requirements on the daily schedule. What type of transfer of
authority has occurred?

(A) Referent power

(B) Empowerment

(C) Relationship-oriented power

(D) Consideration power

(E) None of the above

Which of the following is NOT a factor in deciding what communication medium a manager should
use?

(A) Information richness of a medium.

(B) The manager’s personality.

(C) Time needed for communication.
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(D) Need for a paper trail.
(E) All of the above are factors.
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